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A UoleE
mu: Mazs) 22l
el Oio1d 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Choleta it 154,099,265 178,364,076 N24,264,811
= 111,522,285
[ 1,080,500
= 39,546,480
= 1,950,000
MEZol 2el 162,686,732 154,866,281 A2,179,549
= 111,001,645
[ 1,080,500
= 38,654,587
= 1,860,000
oI 2el 162,686,732 154,866,281 A2,179,549
= 111,001,645
= 1,080,500
= 38,654,587
= 1,860,000
toled ge=d 3,600 2,565 1,035
203 =4l 3,600 2,565 1,035
03 A=A H R S| 3,600 2,565 1,035
otplatd ge=a 3,600
OIMIBIX X2 CHEY 75,000 92,000 A17,000
201 2egh=3| 5,000 92,000 A\87,000
01 At2t2lt] 5,000 92,000 87,000
OUINSHXIUHARS 28 S 5,000
308 AHAIEMSOIH 70,000 70,000
18 SIS0t HAS A 70,000 70,000
OUINEX s 82 70,000
SR BIEHA H2ZAHS 27,160,932 55,565,050 N\28,404,118
= 22,136,580
= 5,024,352
403 AXIEHHSAH=201d 27,160,932 55,565,050 N\28,404,118
= 22,136,580
= 5,024,352
01 AR A =2 £ 27,160,932 55,565,050 N28,404,118
OL2Z KRt ZI|HXt 21,642,182
= 16,647,830
== 4,994,352
O2dx MBoll =X & ds3H At 1,151,850
= 1,151,850
OAEIIHA NSl =X X HS3 E5AH 4,366,900
= 4,336,900
[ 30,000
23012 3UER dsRA 2 32,741 35,306 A2,565
= 25,185




2A:

Zu: NPT 22
ol TOIE 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 7,556
308 AXIHSOIA 32,741 36,306 N2,565
= 25,185
= 7,5%
01 XN B EES 32,741 35,306 A2,565
OE3JI12t BUEX dsKX 2l 32,741
= 25,185
= 7,5%
0120l SextEel LPGRF &k X3 AL 117,500 493,500 A376,000
= 117,500
403 AXIEHHSAH=201H 117,500 493,500 A376,000
= 117,500
01 MXIHHA =222 117,500 493,500 A376,000
ONglol SetxteEe] PGt & & X1 117,500
= 117,500
A NSAH FHEX 13,245,000 0 13,245,000
= 11,700,000
[ 1,545,000
403 AXIEHMSA=0lH 13,245,000 0 13,245,000
= 11,700,000
= 1,545,000
01 MHXIHHA 222 13,245,000 0 13,245,000
OFLsEI BS 9,690,000
= 8,550,000
= 1,140,000
OF=4AHA B8 3,565,000
= 3,150,000
== 405,000
ZUME HEAAYE 28 22 364,329 420,260 A\B5,931
201 er=23y| 364,329 420,260 A\B5,931
01 AtR2t2|HI 12,000 11,000 1,000
O2dHle HSAAE 2G 12,000
02 s3=gHl 362,329 409,260 A56,931
O2d¢Het ALY RRE4 362,329
OIMISIXl £ ISR 2Al X2 1,407,150 1,439,000 A31,850
= 1,080,500
== 326,650
201 er2 3| 2,500 2,500
03 A= I 2,500 2,500
ORRLZAIE M2WSF 2,500
308 AtAIEHMSOIE 1,404,650 1,436,500 A\31,850
[ 1,080,500




2A:

mu: Mazs) 22l
el Oio1d 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 324,150
01 HASHHBSEEXS 1,404,650 1,436,500 A31,850
OOIMZA 28 tHE ZAl X 1,404,650
[ 1,080,500
= 324,150
MIH ZE ol=2l & JIgA 30,000 30,000 0
201 el 30,000 30,000
03 A= &I 30,000 30,000
OAMIAI & ots2 &g JIEA 30,000
OIS FIHE X 96,461,800 92,601,000 3,860,800
= 66,835,200
< 29,626,600
403 MR EHSAHE01H 96,461,800 92,601,000 3,860,800
= 66,835,200
= 29,626,600
01 AXISHA=2E2 X 96,461,800 92,601,000 3,860,800
OXIINSAt E5 95,994,600
= 66,368,000
= 29,626,600
OHJIOIER 23 467,200
= 467,200
IHEE N=A 22 E5AY 139,680 496,200 A356,520
= 139,680
403 AXIEHMSA=Z01d 139,680 496,200 356,520
= 139,680
01 AXISHHA =2 £ 139,680 496,200 A356,520
OJEE M=sA 29 B 139,680
= 139,680
T2 THHIASX] M A 1,640,000 1,740,000 100,000
= 1,640,000
403 AXIEHHSA=01d 1,640,000 1,740,000 100,000
= 1,640,000
01 A= 2L 1,640,000 1,740,000 100,000
OE=Z MEI&MHX N 1,640,000
= 1,640,000
STEE ISV I=58Y SSd2HE 2g2¢c 1,500,000 1,500,000 0
= 1,500,000
306 E¢= 1,500,000 1,500,000 0
= 1,500,000
01 2d= 1,500,000 1,500,000 0
OsHdT IEDIEEY SSYZHHE 2
el 1,500,000
= 1,500,000




A t1EE

3 dEzol 2l
Celr o= 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIMEX A7 - 2e|dE 2 (20HEEX) 465,000 116,000 349,000
307 elztol & 465,000 116,000 349,000
02 2B YA E X 465,000 116,000 349,000
OO0IMEIX A= - 2e|dy 29 465,000
AEH 2R AEE 2el 9,000 5,000 4,000
201 er=23y| 9,000 5,000 4,000
01 AtR2t2|HI 9,000 5,000 4,000
OX&H Z=get Algd 2l 9,000
SEUMA FHEZ OIMEX M2 360,000 60,000 300,000
= 360,000
308 AXIHS0IA 360,000 60,000 300,000
= 360,000
01 AXHNBEES 360,000 60,000 300,000
Ot edA FHEZ OIASX M 360,000
= 360,000
WIILS=3Y 75 23 195,000 0 195,000
= 97,500
=S 97,500
403 X SHHMSAH=01H 195,000 0 195,000
= 97,500
== 97,500
01 AXISHHA= 2L 195,000 0 195,000
OJILE=3Y +5 29 195,000
= 97,500
< 97,500
FaEEAL X X 9,480,000 0 9,480,000
= 8,400,000
= 1,080,000
403 THXI M SAH=01H 9,480,000 0 9,480,000
= 8,400,000
=S 1,080,000
01 AR A =2 & 9,480,000 0 9,480,000
OF=AF8A XX 4,740,000
= 4,200,000
< 540,000
OF£2uE SEIIX A=A 4,740,000
= 4,200,000
= 540,000
gelstdd s 1,348,493 1,735,855 A387,362
= 430,640
< 827,853
= 90,000




2A: tho1ekZ
Hu: el E M
ool SHEAE g4 A3t EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SHEMy 3 A5 1,348,493 1,735,855 A387,362
= 430,640
T 827,853
£ 90,000
SHT|GHA AF= 22 ALY 20,000 20,000
307 2I2+01A 20,000 20,000
04 QUIZHHAIAIE E X 20,000 20,000
OSHIIHA ST 20,000
ST =2 A 100,000 0 100,000
307 212+01™ 100,000 100,000
02 QIZtBAAIE E R 100,000 100,000
OHAHZA FHIY 5 AHAALESZAL 100,000
ST A2 2elALS 180,000 0 180,000
& 90,000
£ 90,000
308 AXISHMSOIN 180,000 0 180,000
= 90,000
£ 90,000
13 BI |2 SHICHEHE A E L EFALAH] 180,000 0 180,000
OA IR HZ2e|HHlA 180,000
& 90,000
£ 90,000
A0 HZHA T GHCH R =R 181,213 503,855 A322,642
308 AXISHMSOIA 181,213 383,855 A202,642
01 AIXISHHBAEES 181,213 293,855 A112,642
OAdIi A =1l 206 =283 181,213
SEISHAYN A ALASFTAL AASZEIALS 150,000 0 150,000
= 150,000
308 AXIHMSOIH 150,000 0 150,000
= 150,000
01 IXSHNHBLEXRS 150,000 0 150,000
ONEsEALd ™A HALTESIAL ALZZ2IA
A(E2d) 150,000
= 150,000
BEY FHAXY FUAAISIAL AAZ22IAIS 21,000 0 21,000
308 AHXIHMSOIH 21,000 21,000
01 IXSHHBLERS 21,000 21,000
OZ2g FHUKNG FOALIESIZAL AIZ
Ze A 21,000
BZEY HIoHXIS =9 AL SIS IZAL 60,000 550,000 A490,000
308 AXISHMSOIA 60,000 100,000 240,000
01 AIXISHHBAEERS 60,000 100,000 240,000
OFR)EEHEA =H FoALAIZ2L] 60,000




A UoleE
Hu: el E M
el Yl 88 A (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
cl=llol RAXNS 2 At 12,000 0 12,000
403 X SHHMSAH=01H 12,000 0 12,000
01 AXISHHA =22 & 12,000 0 12,000
Oct=llol SARNY SZHE At (S4t) 12,000
SHEHHEHZE 561,280 606,000 N4, 720
= 280,640
= 280,640
307 @12t0| & 561,280 606,000 N4, T20
= 280,640
= 280,640
03 M EHE2SHIEX 561,280 606,000 N4 T0
Odod sZ2AHUH 29 561,280
= 280,640
=S 280,640
AUSIIE WAL 28,000 21,000 7,000
307 el2to| & 28,000 21,000 7,000
02 2IZHBYAIAE & 28,000 21,000 7,000
OUZHS 0ISAIE dUsIIE S32c 28,000
SEEA ALY 5,000 55,000 /50,000
201 fet=3| 5,000 5,000 0
01 At 22|l 5,000 5,000 0
Oded & LBl XAZE 2E S 5,000
ARIFSHES sFdEe oe Al 30,000 0 30,000
307 glztol & 30,000 0 30,000
02 LB HAHE L 30,000 0 30,000
OMIFHAAE 2t BLE e Y A 30,000
dAFH2LZH(Uo1Z ) 64,040 64,440 2400
(22182 ) 64,040 64,440 A400
[23HI(CHD1 22 1t) 64,040 64,440 400
201 2= 30,400 30,600 A200
01 At22t2l] 30,400 30,600 A200
ozl =4 30,400
202 04l 30,400 30,600 A200
01 2LHoIH 30,400 30,600 A200
ozl L= 30,400
203 HR=AH] 3,240 3,240
MU A2 LRFEI 3,240 3,240
otIata il ge=xd 3,240




